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the times of arrival. 

See Pages 427–4

2. At time t = t0 the position and velocity vectors of a spacecraft are 

r0 = 
√

− 2 i x + 
√

2 i y and v0 = 
√− µ i x 

a. Prove that the orbit is a parabola. 
b. Find the orbital parameter and the direction of the apsidal line. 
c. Find the position and velocity vectors at time t = t√ 1 where 

10 2 
t1 − t0 = Do not use a calculator! 

3 µ 
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Fig. 9.3 from An Introduction to the Mathematics and Methods of Astrodynamics.  Courtesy of AIAA. Used with permission.




